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1 28 35: 09 /WK B5K 10km —fi% SBFDEB
2 15 35: 55 W% {ax 10km —fix SBFDEP
3 8 37 : 38| M K 10km —fi% SBFDEB
4 29 38 : 39 /K AKX 10km —fix SBFDEP
5 33 39 : 34/B% 1EfC 10km —fig SBFDEP
6 31 40 : 50 |4liE  {Z5R 10km —fig BFDEB
7 30 40 : 58 TN E45 10km —fi% SBFDEB
8 16 41 : 10X RE 10km —fig BFDEB
9 36 41 : 24|\NZE]ll BE] 10km —fig SBFDEP
10 32 41 : 24 /WK tHi 10km —fig BFDEP
11 4 42 : 03/18)I| BBE 10km —fig SBFDEB
12 3 43 : 10 B & 10km —fig BFDEB
13 9 43 : 55 WE  Eiif 10km —fi% SBFDEP
14 1 44 : 36 HE & 10km —fig BFDEP
15 37 44 : 54 ETF EH 10km —figx SBFDEB
16 18 45 : 24 UK = 10km —fig BFDEP
17 39 45 : 36 /WK B 10km —fig SBFDEB
18 12 45 : 51 |FEF BBE 10km —fig BFDEP
19 40 46 : 09 |FEH E& 10km —figx SBFDEp
20 43 46 : 32 tas #EfE 10km —fig BFDEB
21 41 46 : 51 /MK =X 10km —fi% SBFDE
22 14 46 : 58| =F Ml 10km —fig BFDEB
23 5 48 : 16|Bd =AH| 10km —fig SBFDEB
24 42 48 : 21 HFE & 10km —fig BFDEB
25 23 48 : 37 R*Kl B 10km —figx SBFDEp
26 11 50: 31 BRZE H 10km —fig BFDEB
27 13 51:28/#kH &i% 10km —fi% SBFDE
28 7 52: 04 HE JlE— 10km —fig BFDEB
29 10 52 : 04 8 JAEB 10km —f% SBFDEB
30 27 52:04 Bk R 10km —fig BFDEB
31 45 52 : 42 H%  FHAKED 10km —f% SBFDED
32 17 54 : 11 %0# M—Ep 10km —fi% SBFDEP
33 21 54 : 27|k FHRE 10km —f% SBFDED
34 34 54 : 33|¥liE A 10km —fig BFDEB
35 6 55: 04 |FLL 5R 10km —f% SBFDEB
36 2 58 : 04|85k thHA) 10km —fig BFDEB
37 19 58: 36| 1E— 10km —f% SBFDEB
38 20 60 : 53|¥H &— 10km —fig SBFDEB
39 38 61 : 52| & 10km —fix SBFDEP
40 44 69 : 47 |FiR  F— 10km —fig SBFDEB
41 35 69 : 54| 5RZFE HH 10km —fix SBFDEP
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1 49 33:29 RE X5 10km &ERE SBFOE
2 54 34 :42mHEF RBE 10km &ERE BFOE
3 53 39: 38R = 10km ERE SBFOE
4 47 40 : 43| T& #ACKEB 10km &ERE BFOE
5 50 40 : 46 )11 #IX 10km ERE SFOE
6 51 42 : 30|21 = 10km &ERE BFOE
7 46 42 : 43R BB 10km &ERE SBFOE
8 52 42 : 46 lEEFAF EX 10km &ERE BFOE
9 48 43 : 52/ Ktk 10km ERE SFOE
10 55 44 : 47| JLAFR > |10km ERE SBFOH
11 58 45 : 23| llkE  FE 10km &ERE SBFOE
12 57 46 : 55| BH &EBiE 10km &ERE BFOE
13 56 49 : 46| SR=E 1£th 10km ERE SBFOE
14 61 53: 39|k &N 10km &ERE SBFOE
15 60 60 : 27 XH BiE 10km ERE SBFOE
16 62 68 : 10 k8 HBE 10km &ERE SBFOE
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